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SA: SIS AL

M DI AR (YYDDHE /UPHE)

ol QIE APl AS A (el &)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
IIESA2HSEMNRTE 28,337 29,805 A 1,468

= 28,337
101 @124 H| 20,469 20,639 A170
= 20,469
04 JIZHNZ22XNSE+ 20,469 20,639 A170
(@)eikal:] 20,469
—Jl=22 37,0803 *76 L x1H 65 H 16,909
= 16,909
— === 37,0803 162 *x1H+65H 3,560
= 3,560
201 ZEt2FH| 1,868 3,166 N 1,298
= 1,868
01 AR 2t eldl 1,868 3,166 N 1,298
OAtR 22l tl 311,300 65 1,868
= 1,868
202 44| 6,000 6,000 0
= 6,000
01 =2 A bl 6,000 6,000 0
O=WHHHI 1,000,000& x65 & 6,000
= 6,000
FosE2el 4,500 8,650 A4,150
201 et A | 4,500 4,800 A 300
01 AR 2teldl 4,500 4,800 A 300
OFUSES 2=l 750,000& 65 & 4,500
QIEEdE Jl=3l 18,800 19,060 A 260
201 Bt2A | 12,800 14,460 A 1,660
01 AR 2teld| 12,800 14,460 A 1,660
OOt 7 900,000& *10& 9,000
OHEEES AR =S 50,0002 x6& »33| 900
ORIASRANRES 241,660 128 2,900
202 (44l 6,000 4,600 1,400
01 2L o4 Hl 6,000 4,600 1,400
OFAHH 6,000,000& 6,000
HgEsS23 15,600 15,600 0
= 15,600
101 212l 11,970 11,584 386
= 11,970
04 JIZtHI22XNHSE+ 11,970 11,584 386
ONHZE=SHRFL 11,970
—Jl2s 37,0803 240 «1H 8,900
= 8,900




SN OIRZAD
M DI AR (YYDDHE /UPHE)
ol QIR MHIAS ECR-ED
S EH . S(BH) - NEAY - B2 Ol AF o4 gggf; HDE2
— =X 37,080& x50 1H 1,854
2 1,854
—=01H=2 10,034,000 *4 . 5% 452
= 452
— 2122 10,034,000 *2.82% 283
= 283
—LOoIMIRUYEE 268,000& *6.55% 18
= 18
— 122 10,034,000 *1. 3% 131
= 131
—AMIHEE 10,034, 000& *3 . 3% 332
= 332
201 Bt HH| 2,130 2,516 A\ 386
= ,130
01 At 22|l 1,530 1,916 A\ 386
OALZAHZ AI22t2]H] 127,500& *12& 1,530
= 1,530
02 3524l 600 600 0
Od 58 S| 50,000 12& 600
= 600
202 (4 B 1,500 1,500 0
= 1,500
01 2| 1,500 1,500 0
OuALZ HRFX 20,000& *3™H x25 1,500
= 1,500
Ol 0t el Kl 600 600 0
303 A= 600 600 0
01 Za2 600 600 0
OoI20td el Xl EA 600
— X% 300,000& *x1H 300
- 200,000& *1H 200
—&d 100,000& *1H 100
NHBR(RELNANL/T AL A 48,374 72,096 £23,722
o= 5,400
= 42 974
A&y 48,374 72,096 N23,722
== 5,400
) = 42,974
N&EOIRA K 30,374 38,456 A8,082
101 o124 d| 8,982 8,788 194
4 J12tMZ22HSE S 8,982 8,788 194
OXNESELZSHe 8,982
=l 23 37,080 180 *1H 6,675
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SN BIRZALDY
Mo Epe (BELXNL/XALEAI)

ol NP2 ECR-ED
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
— =X 37,0803 x362 *1H 1,335
—=20H3 8,010,000& *4.5% 361
—2H2d2E 8,010,000& *2.82% 226
-0 RAEH 226,000& *6.55% 15
-85 8,010,000 *1.3% 105
— A HEE 8,010,000& *3. 3% 265
201 L Bt2HH| 16,392 15,943 449
01 At 22|l 14,631 13,852 779
OXNHDIAX2 MEEE F2E 6,600
~NETLOUAH MPBE 2
400,000& x12& 4,800
—EXNEAYHE SIESE MREE 2¢
150,000& *12& 1,800
OXNEAH™e K2 M 71
—KN&EZ22Z2D A/S ROI2 HEH
100& *500& *x23] 100
—XN&EE2 Z2USE Rel=2 M&
25021 %2, 44424 611
OXNFEIIEH B 6,000
~NEEIIEE e UL 2=
90,900& 44 & 4,000
—ANEMUABXAE WESF2LHl 114,200 78 800
—ANEEZ2E M| 70,588 *x17& 1,200
OXNHEAMNH 222X 110,000& =128 1,320
02 =22l 1,761 2,091 A 330
OXNEUA™Me|IZW S8 1,761
—X&EZ22Z D A/S SQEAA
2203 x500& *23] 220
~EXNEANHY S)I5E ZDES
2503 x31024 + 122 930
—A&EFeZ2H E2 2503 %2 ,444°A 611
202 o4 H| 5,000 5,200 A 200
01 2| 5,000 5,200 A 200
OSSN HI 5,000,000 5,000
NESSFZ2UE D022 S3E ALY 18,000 18,000 0
& 5,400
o 12,600
201 B2 AH| 18,000 18,000 0
& 5,400
o 12,600
01 AtR22t2|dl 18,000 18,000 0
OXNE=HHINE 0222 ES MY
4,500& *4,0000H 18,000
== 5,400




SN BIRZALDY
Mo Epe (BELXNL/XALEAI)

&t X&E2e2Y (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
[ ]] = 12,600
M2 (ZELXSMNLY/XNALT Al 180,065 617,470 A437,405
= 39,656
& 11,417
i 128,992
FSLAHF 87,700 333,831 N 246,131
IHE S AIXI I AL 84,200 330, 331 A246,131
101 @I 24d| 8,982 8,788 194
04 JIZtH22 S ES 8,982 8,788 194
OMNEBARIN EXNEL A 8,982
=22 37,0803 180+ 1 6,675
— === 37,0803 +x36L x1H 1,335
—=0H3 8,010,000& *4.5% 361
—dZdeE 8,010,000 *2.82% 226
—LoEIIRYEE 226,000& *6.55% 15
—1EEE 8,010,000% *1.3% 105
—&HESH 8,010,000& *3.3% 265
201 et2Ad| 70,218 66,343 3,875
01 AR 2teld| 63,672 46,487 17,185
ORXIJEEAL HAMAX 2 2,400
PP EYN I FAS=DNES 45,0002 =104 Xt 450
N ETEINE-CIETEIY
45,0003 «10&f Xt 450
—XIIEER 50,0003 +54¢ Xt 250
—XIIZ2E3SK2 62,500 x20&t Xt 1,250
OXJtEAN 228 &2 ME 60,000 +70H 420
OuEXIE & =8 N= 37,389
—&EX BEFEE
0,000% *(39,000Z XI/58.87)*1.1 29,149
—oJANE BE+=rE
40,000 *42E X| *50%*1. 1 924
—0l9ME BELaE
40,0003 » 1282 XI *50%+1. 1 2,816
—HEHIEUHAN BESes2
1,500,000 3 4,500
OfIdz 4= 3,550
—SRs4EIR A &Y
50,0003 x11H #53] 2,750
—C2HFARR ALY
50,000 8H »23| 800
ORXIJtAH AIEZHl XYl 19,913
—XIJtAH SHERO
201,907,500 8%+ 10& / 12& 13,461
—XIJNH 2 ZEAN 64,520,000 *10% 6,452
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SH: §ASAID
HE: SENBR(SELX ML /NALTAI)
SR I (=CR-E
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
02 222l 6,546 19,856 A 13,310
OMBEXE XIILRVEXNL LWLSU2
29021 x22, 57001 6,546
202 014 5,000 5,200 A200
NETET 5,000 5,200 A200
O %01yl 5,000,0002 5,000
EXNZHENES S 3,500 3,500 0
301 YyHB AR 3,500 3,500 0
12 DBt AL S 3,500 3,500 0
ORSHUENY SYHLS=a A D
500,0002 721 3,500
MEAHE2Y 92,365 283,639 ~191,274
2 39,656
= 11,417
2 41,292
CRHUASHS RO 10,853 275,639 A264,786
201 YEr2gy| 10,853 259,515 248,662
01 At 22|t 10,415 232,915 £222,500
Oczgm 41,0002 *154 6,615
oeHsn 10,0002 *1507H 1,500
CELT-WNTE Db ks 1,0002 2, 30004 2,300
02 222l 438 26,600 A26,162
OERYFA SJ| QEDX 1,750 #2502 438
CRHFL 22 U R 81,512 8,000 73,512
2 39,656
= 11,417
2 30,439
201 YBr2gy| 5,400 8,000 A2,600
= 1,600
2 3,800
01 At 22|t 5,400 8,000 A2,600
OE2HZEA 222 ME 1,000 +5,4000H 5,400
2 1,600
2 3,800
403 KX EHHI S K2 0| & 76,112 0 76,112
2 38,056
= 11,417
2 26,639
02 2| 2SOl T BHCH & AR B 76,112 0 76,112
OEREFAIISC AXTST Ha
76,112,0008 %141 76,112
= 38,056
= 11,417
2 26,639
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SN

X{ ZH -
S = -

Ab1t
S(2EL X ENL/XNALEAl)

0

o e oft

M o

= ;1 ZIHS AL (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
ASAR(ZELXAMNL /XN AL TAI) 6,129,100 7,169,061 A 1,039,961
= 25,800
o 2,290,000
[ 55,250
> 3,758,050
FHEZMAALY 5,644,600 6,801,061 A1,156,461
= 25,800
o 2,290,000
2 3,328,800
A F=HEZIMNEAS 5,025,000 6,344,000 21,319,000
& 2,100,000
= 2,925,000
401 Al ZHI Y 2T 5,025,000 6,344,000 1,319,000
= 2,100,000
= 2,925,000
01 Al& 4,888,177 5,979,348 A1,001,171
O SAFEHEZMLAR  4,888,177,0008 x14] 4,888,177
o 2,100,000
= 2,788,177
02 el 124,260 324,684 A200,424
O ZEAF=AHESZIHEAY 124,260,000 14 124,260
03 Al 2 CHH 12,563 39,968 A27,405
O ZAIF=AHESEMEAS
5,025,000,000& *0.25/100 12,563
S0lE FEHBALY 245,000 259,000 A 14,000
308 XX I SOl & 245,000 259,000 A 14,000
05 XXMt RE S 245,000 259,000 214,000
OFSHZAY 50,000,0008 355 *14% 245,000
AE0F 2 J|=23Hl 8,600 8,325 275
201 et 3,600 3,325 275
01 AtR22IH 3,600 3,325 275
OO0 AREE 2 150,000 * 122 1,800
O3 2949 50,0008 *9 % 43| 1,800
202 o1l 5,000 5,000 0
01 204 bl 5,000 5,000 0
OZAH 5,000,000& 5,000
SO0lE FHEFMAAL 358,000 148,800 209,200
= 25,800
o 190,000
2 142,200
301 etz azgd 358,000 148,800 209,200
= 25,800
o 190,000
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SN
X XH .
S Tt

el

Ab 2t
SHRELRANL/XNALAEAI)
=P R ges

l:‘}\_l X~ xH C|—O|(§I j:”) }\-“C‘}\I.O'l HASX2 AFOH I|_‘|LI;=|_|‘:_ ot
. o= T ° - [= Bl e (L] 0:”{:'_% (=]
= 142,200
12 J|EtE 4= 358,000 148,800 209,200
Os0E BIEFUIAIE (s SMAER) 272,000
— A FHI(ZAHO0IE) 2,000,000& *120= 240,000
= 168,000
= 72,000
— QA (L8 1,000,000& *32& 32,000
= 22,000
= 10,000
OZd0IEMIXEAS (&HER) 86,000
— e ,000,000& *10= 20,000
= 6,000
= 14,000
—BIEFH| 2,000,000& x13= 26,000
= 7,800
= 18,200
—FEIE S 2,000,000& x155 30,000
= 9,000
i 21,000
—SHERFZAMY 2,000,000& 5= 10,000
= 3,000
= 7,000
AEHH AL} 8,000 0 8,000
402 QI2EX201 ™ 8,000 0 8,000
02 SI2+CH&H AL HI 8,000 0 8,000
OASA BEEN BOIYR (442
100, 000& *802A 8,000
=32 2el 320,000 240,000 80,000
Ot=sl2 HUIAS 320,000 240,000 80,000
402 BI2HXH=201 ™ 320,000 240,000 80,000
01 It X222 X 320,000 240,000 80,000
OLAL =oiEe X 50,000,000 * 14! 50,000
Obtsza M= 70,000, 000& *2= 140,000
Oltsz2 el2gd 20,000, 000& *6= 120,000
OO0l&el Ot=32 2122d 10,000,000 1= 10,000
Lt sl ol & D™ FTIIA 62,500 50,000 12,500
& 31,250
= 31,250
LSSl 2olE D™HFIIALY 62,500 50,000 12,500
& 31,250
i 31,250
307 2I2tol A 62,500 50,000 12,500
& 31,250
= 31,250
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SA DIRZ A
FE: AZRR(FELTANL/ N AL A
SHel: LHS DS 2 O DHFIIAIY (Ere): & 8
_ _ MNuE o
SA-BH - OA(B) - HRAY - BE2 O] &+ 0% Sl e S[imE=Fh
05 BIZtR &= 62,500 50,000 12,500
OlLtsD 81208 THFIIAY
2,500,000 255 62,500
S 31,250
s 31,250
A3l FHOEHE T 42,000 78,000 36,000
AS FHUHE = - B2 XA(IIEEXH) 42,000 78,000 36,000
403 XX HMSXH=0l & 42,000 78,000 36,000
02 ZJ| 2SO0l CHSHCH & AL I 42,000 78,000 A 36,000
OMBIHAANE e H2HAY
6,000, 0002 *36 5 %0.2 42,000
SSFEXNH 60,000 0 60,000
= 24,000
= 36,000
HLASE dUE2E3 A& 60,000 0 60,000
= 24,000
2 36,000
501 EXt= 60,000 0 60,000
S 24,000
= 36,000
01 228 i= 60,000 0 60,000
ONASS AHBSS N
12,000,000& = 5= 60,000
= 24,000
2 36,000
HY2HZHI (LS AL (IIEH/IIE 15,960 17,400 A1,440
o= 15,960 17,400 A1,440
A Jl=34 15,960 17,400 A 1,440
201 24| 6,480 7,200 AT20
01 At2 22l 6,480 7,200 AT20
OJl=gs =48 6,480,000& 6,480
202 O4H| 6,480 7,200 AT20
01 = LHAbI 6,480 7,200 AT20
OJl=zgse =d 6,480,000& 6,480
203 P =&l 3,000 3,000 0
VS 3,000 3,000 0
O&Z 1520lct 250,000& 128 3,000




